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A

Uoh TR fch 31U URAR o1 ¥RUT-GIY0T T 8, fad Iqeht T, fUar 3R s= afie 81 STWR sga-{hat 39
ST H 3Tt & o ITh U haet Tep 137 WTeT Uare giar g1 af I8 39 foheadht 3R § (STeprger-fihst & w0 #)
fAemTerT?

farsqa s

gfe AT UF 8t 8, 4T foh Us oz aTet A 39 TRie aafth Y ffd o1 guf fohan g, e ar & us fhar man g;
T I 3T Ueh TI3T Yo oht 31T 3R I FHeprerr a1fey, afe ag ¢ o feT 3R I9eh! Id o fol ITeh S8R 3R
3 AT & TR ¥ ALY g, it g8 ¥RUT-UIUT o 38T 8| Rilfeh Tefl HoteatTg STaife T HootH ohl A B
"I AT L e, TR I T UR @ ol fSiFiehT gH “RUT-UTN0T &hd 811”7 38 @R (2/117, 6/190) 3R
gfeer (2/717, 718, 721, g1 & : 1034, 1036, 1042) = Rarad femar &1

ST8T deh S ANl ohl & 8, fSIenT USehd  SRUT-UINUT &hdT &, af Al 3I9ch UTH WY 379+ 37R § STehId e o ol
g I 781 8, At 378 FehTdel-Tha T ITdT e <hl STehdT AT gl ST, SRiifeh 3Teeg el TAT &

{286 5yl Flgaas Y Ludl di ks o

" 3TeeITg q3iTe foRet uroft R Igeht 21feh & Sifdier R 8T Sreran” (YRdet SehsT : 286)

AT Teff ewierirg Sfeife T Too = HIATT : "Heghl Tl (S5aR) &, forgch s1e SieH! ATelaR 1" 59 @R
(2/117, 6/190) 3R g (2/717, 849 T&AT : 1034) = Rarad fohar g1 auT et Heeteattg 3ife T doord A
AT : "STd # T fohdlt ShTH ohT SHTERT €, ol gH STUHT L1fch ¥R 38 et 1”

3R 3feeTTg B dthich (TTE) U & aTell 2|
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